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#1: 3 BE/(82.86) #2: 6 £ 4-H(72.21) #3: 2 BB 5(70.18)

1 INS: 5225 BRESC(BHO) 4 3 NS: tB{EIE #FE(BAC) 4 VP:| 7.82 12.18| Total VP: 52.89 Rank:
EW: 2308 SRBEEEAC) -4 EW: ZZ3ETB 2I3%K(F0) 4 IMP:| 15 21 7
__ _ __
# 21 s 165 3NN4 630 Mean: 3NN4 630 1.0 4 ||# 22 a 7643 5SE-1 100 Mean: 5SE-1 100 120 1
v K3 3NN4 630 610 A 00 2 v 9743 3NW5 -660 -580 A 0.0 2
+ K875 Dif: 0 NS:1 3NN3 600 00 6 ¢ 97 Dif: 760 NS:12 3NW5 660 20 7
» AQT3 IMP: 0 EW:-1 » A86 IMP: 13 EW:2 3NE5 660 20 1
& K72 & JB843 4 KQT2 & AJ8 3NE4 -630 -2.0 1
v JT7 v Q852 v KJ85 — v6
+ AQ4 | + JT6 *3 * KQUT42
& 9852 & J4 & KQJ4 & T97
B o VAN 4 AQ9 P OVABN 495
N 44 ~~ 3 ¢ A%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ ¢ A865
E ~~~~~ & K76 E 44~34 532
~~~~~ W 44~34
# 23 » JT95 2HW2 -110 Mean: 2DW2 -90 1.0 1 [|# 24 a 742 1NN-1 -50 Mean: 1NN1 90 3.0 2
v J9 2HW2 -110 -110 A 00 2 v A76 PO 30 2HW-1 50 20 1
+ K85 Dif: 0 NS:0 2HW2 410 00 5 ¢ 976 Dif: -50 NS:-1 P 0 10 3
#» KT92 IMP: 0 EW:0 2DW3 410 00 1 » AK62 IMP: -2 EW:1 A 00 2
a A32 » K87 2DE3 410 00 1 ||aK5 # Q963 1NN-1 50 -1.0 1
v AKQT5 + v 32 2owa 130 40 1 ||e 98 v QJT3 INEA1 2 20 1
¢ T42 * J763 1NE3 450 1.0 1 ||e AQ54 * KJ8 4HS-3 150 3.0 1
& 83 S & AJ54 & T7543 & J8 3NXN-2 -300 -7.0 1
deVAN ,Q64 P eVABN 4, AJT8
N ~~~1~ 8764 N ~~112 @ K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E~1~~~ Q9
~22~2 W ~1~~~
# 25 a2 4HS-1 -50 Mean: 3NS3 400 60 3 ||# 26 & A76 6HS-1-100 Mean: 4HS6 680 50 3
v KT2 3NS-2-100 140  3NN3 400 60 1 v QT62 4HS4 620 490  4HS5 650 40 3
o AT42 Dif: 50 NS:-5 5SXW-1 200 20 1 + A9732 Dif: -720 NS:-11 4HS4 620 40 2
# AKT82 IMP:2 EW:6 A 00 2 a A IMP: -12 EW:4 A 0.0 2
» AQT876 aJ5 4HS-1 50 -5.0 2 ||a KT42 » 98 6HS-1 100 1.0 1
v 874 v QJ9 3NS-1 50 50 1||e8 _|_ v J75 4SN-2 200 120 1
+ 986 + K75 3NS-2 100 60 2 ||e T6 + KQ54
&7 & J9653 & KJT532 & Q987
oo VAN 4KOM3 eV ABN 4, Q53
N 333 ~2 #A653 N ~ 46 43 » AK943
S 333~2 ¢+QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ a064
~~~~~ W 2 ~ o~ o~ o~
# 27 a A73 1NN4 180 Mean: 3NN4 430 70 1 ||# 28 » 87 2SE4 -170 Mean: 4HW-1 50 60 1
v Q2 3NN4 430 150 2NN4 180 10 1 v Q8 1NE4 -180 -190 3SW3 140 2.0 1
¢ AK Dif: 250 NS:1 1NN4 180 1.0 1 + AQ4 Dif: 10 NS:1 1NE2 420 2.0 1
& KQT974 IMP: -6 EW:-7 A 00 2 » KQ8752 IMP: 0 EW:0 2SE4 470 1.0 3
aT9 » KJ854 1NN3 150 0.0 2 ||a Q9532 » KJ6 2HE4 470 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 || KJ95 I v AT4 A 00 2
* J6432 ¢ QT 2NN2 120 10 1 ||e T98 * K2 2SE5 200 0.0 1
a & A82 3NN-1 50 5.0 1 & AJT64 1NE4 180 0.0 1
eV AN 4,Q62 R eVABN 4 ATE 4SXW5 690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3 ~~~3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 2SS3 140 Mean: 3SN5 200 20 1 |[|# 30 » Q95 2HN3 140 Mean: 4HS4 420 60 1
v J8743 2SS4 170 130 2SS5 200 20 1 v AQ6543 2HN3 140 200 4HN4 420 60 1
+ KT63 Dif: -30 NS:0 1SS5 200 20 1 ¢ T5 Dif: 0 NS:2 3NS4 430 60 1
& A3 IMP: -1 EW:-1 2SS4 170 10 3 a Q4 IMP: 0 EW:2 A 0.0 2
# Q76 N a K5 A 00 2 ||aJs3 » T762 3HN4 170 1.0 1
v K95 v QT62 2ss3 140 00 3 ||e KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J 2HN-2 200 80 1 ||e A982 + KJ6 2HN3 140 20 3
& T7 & KQ9852 & K86 & J972 4HS-1 -50 60 1
B o VAN 4,AIT843 S eVAN 4 AK4
N ~3~43 9A N ~~3~1 97
S ~3~42 ¢A98 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ & AT53
1~~~-~ W o~~~~~




¥ l\ ——
6 110 £ F >2RBERF P & ==> R 6
AVA
#1: 3 B£/2(82.86) #2: 6 =r 4415(72.21) #3: 2 BB 2 5 (70.18)
2 NS: %268 FAT-FE(ER0) 7 10 e FE!ﬁ?E?(EHC) 20 VP:| 6.28 : 13.72| Total VP: 70.18 Rank:
EW: BB 452222(EFC) -20 EW: 2355 #&itE(30) -7 IMP:| 2 : 13 3
__ _ __
# 21 4 165 3NN4 630 Mean: 3NN4 630 1.0 4 # 22 A 7643 3NWS5 -660 Mean: 5SE-1 100 120 1
v K3 3NN3 600 610 A 00 2 v 9743 3NW5 -660 -580 A 00 2
+ K875 Dif: 30 Ns:1 3NN3 600 0.0 6 ¢ 97 Dif: 0 NS:-2 3NW5 -660 20 7
& AQT3 IMP:1 EWw:0 » A86 IMP: 0 EW:2 3NE5 -660 20 1
A K72 » J843 & KQT2 » AJ8 3NE4 630 20 1
v JT7 v Q852 v KJ85 — v6
* AQ4 | + JT6 *3 » KQUT42
» 9852 » J4 * KQJ4 » T97
oV ABN ,AQ SOV ABN 45
N 44 ~~3 9A9%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ + A865
E ~~~~~ & K76 E 44~34 4532
~~~~~ W 44~34
# 23 » JT95 2DW3 -110 Mean: 2DW2 9 1.0 1 |[|# 24 a 742 1NN1 90 Mean: 1NN1 90 30 2
v J9 2HW2 110 -110 A 00 2 v A76 1NN190 -30  2HW-1 50 20 1
¢ K85 Dif: 0 NS:0 2HW2 -110 0.0 5 ¢ 976 Dif: 0 NS:3 P 0 1.0 3
& KT92 IMP: 0 EwW:0 2DW3 -110 0.0 1 & AKB2 IMP: 0 EW:-3 A 0.0 2
a A32 # K87 2DE3 -110 0.0 1 & K5 & Q963 1NN-1 -50 1.0 1
v AKQT5 + v 32 Wa 430 40 1 ||v 98 v QJT3 INE1 20 20 1
¢ T42 ¢ J763 1NE3 -150 -1.0 1 + AQ54 + KJ8 4HS-3 -150 3.0 1
» 83 S & AJ54 * T7543 & J8 3NXN-2  -300 7.0 1
* ¢ VAN ,Q64 S eVABN 4 AJTS
N ~~~1~ 8764 N ~~112 K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 Q76 E ~1~~~ aQ9
~22~2 W ~1~~~
# 25 a2 3NS3 400 Mean: 3NS3 400 60 3 ||# 26 & A76 4HS5 650 Mean: 4HS6 680 50 3
v KT2 3NS3 400 140 3NN3 400 6.0 1 v QT62 4HS6 680 490 4HS5 650 4.0 3
¢ AT42 Dif: 0 NS:6 5SXW-1 200 2.0 1 ¢ A9732 Dif: -30 NS:4 4HS4 620 4.0 2
& AKT82 IMP:0 EwW:-6 A 0.0 2 a A IMP: -1 EW:-5 A 0.0 2
& AQT876 s J5 4HS-1 -50 5.0 2 & KT42 a 98 6HS-1 -100 -11.0 1
v 874 v QJ9 3NS-1 -50 -5.0 1 v 38 + v J75 4SN-2 -200 -12.0 1
+ 986 * K75 3NS-2 100 60 2 ||eT6 + KQ54
a7 & J9653 & KJT532 & Q987
% ¢V BN o K3 eV AN 4o Q53
N 333~2 9A653 N ~4643 v AK9M3
S 333~2 ¢QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ 464
~~~~~ W 2 ~ o~ o~ o~
# 27 » A73 3CN4 130 Mean: 3NN4 430 7.0 1 # 28 a 87 2SE5 -200 Mean: 4HW-1 50 6.0 1
v Q2 1NN3 150 150 2NN4 180 1.0 1 v Q8 2SE4 -170 -190 3SwW3 -140 2.0 1
¢ AK Dif: -20 NS:-1  1NN4 180 1.0 1 ¢ AQ4 Dif: -30 NS:0 1NE2 -120 2.0 1
&» KQT974 IMP: -1 EW:0 A 0.0 2 & KQ8752 IMP: -1 EW:-1 2SE4 -170 1.0 3
s T9 & KJ854 1NN3 150 0.0 2 & Q9532 & KJ6 2HE4 -170 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 ||e KJ95 | v AT4 A 00 2
¢ J6432 ¢ QT 2NN2 120 -1.0 1 ¢ T98 + K2 2SE5 -200 0.0 1
& J6 & A82 3NN-1 -50 -5.0 1 & AJT64 1NE4 -180 0.0 1
ooV ABDN 4Q62 P OVABN 4, AT4 4SXW5 -690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3~~~ 3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 1SS5 200 Mean: 3SN5 200 20 1 ||# 30 » Q95 4HS-1 -50 Mean: 4HS4 420 60 1
v J8743 2SS4 170 130 2SS5 200 2.0 1 v AQ6543 3NS4 430 200 4HN4 420 6.0 1
¢ KT63 Dif: 30 NS:2 1SS5 200 2.0 1 ¢ T5 Dif: -480 NS:-6 3NS4 430 6.0 1
& A3 IMP:1 EW:1 2SS4 170 1.0 3 » Q4 IMP: -10 EwW:-6 A 0.0 2
» Q76 [\ & K5 A 0.0 2 & J83 a T762 3HN4 170 1.0 1
v K95 v QT62 2SS3 140 0.0 3 v KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J N2 200 80 1||e A982 + KJ6 2HN3 140 20 3
17 & KQ9852 * K86 » J972 4HS-1 50 60 1
* ¢V AN ,AJTE43 SOV ABN 4 AKA
N ~3~43 wA N ~~3~1 97
S ~3~42 ¢A% S ~~3~2 ¢Q743
E 1~~~~ aJ64 E ~~~~~ & AT53
1~~~~ W ~~~~~
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6 102§ < 2RIBERE 2B == RE 6
AVA
#1: 3 BER(82. 86) #: 65T 4415(72.21) #3: 2 BB 2 5 (70.18)
3 NS: 3L FEBEAC) 4 1 S: 151255 BRE(FO0) -4 VP:( 1218 : 7.82 | Total VP: 82.86 Rank:
EW: SERETR SI¥/K(HO) 4 EW: E&32;& SBE3R(FAC) -4 IMP:| 21 15 1
__ _ __
# 21 s 165 3NN4 -630 Mean: 3NN4 630 1.0 4 ||# 22 a 7643 5SE-1-100 Mean: 5SE-1 100 120 1
v K3 3NN4 -630 610 A 00 2 v 9743 3NW5 660 -580 A 0.0 2
+ K875 Dif: 0 NS:1 3NN3 600 00 6 ¢ 97 Dif: -760 NS:-2 3NW5 660 20 7
» AQT3 IMP: 0 EW:-1 » A86 IMP: -13 EW:-12 3NE5 660 20 1
& K72 & JB843 4 KQT2 & AJ8 3NE4 -630 -2.0 1
v JT7 v Q852 v KJ85 — v6
+ AQ4 | + JT6 *3 * KQUT42
& 9852 & J4 & KQJ4 & T97
B o VAN 4 AQ9 P OVABN 495
N 44 ~~ 3 ¢ A%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ ¢ A865
E ~~~~~ & K76 E 44~34 532
~~~~~ W 44~34
# 23 » JT95 2HW2 110 Mean: 2DW2 -90 1.0 1 [|# 24 a 742 1NN-1 50 Mean: 1NN1 90 3.0 2
v J9 2HW2 110 -110 A 00 2 v A76 PO -30 2HW- 50 20 1
+ K85 Dif: 0 NS:-0 2HW2 410 00 5 ¢ 976 Dif: 50 NS:1 P 0 10 3
#» KT92 IMP: 0 EW:-0 2DW3 410 00 1 » AK62 IMP: 2 EW:1 A 0.0 2
a A32 » K87 2DE3 410 00 1 ||aK5 # Q963 1NN-1 50 -1.0 1
v AKQT5 + v 32 2owa 130 40 1 ||e 98 v QJT3 INEA1 2 20 1
¢ T42 * J763 1NE3 450 1.0 1 ||e AQ54 * KJ8 4HS-3 150 3.0 1
& 83 S & AJ54 & T7543 & J8 3NXN-2 -300 -7.0 1
o eVAN 4,Q64 P eVABN 4, AJT8
N ~~~1~ 8764 N ~~112 @ K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E~1~~~ Q9
~22~2 W ~1~~~
# 25 a2 4HS-1 50 Mean: 3NS3 400 60 3 ||# 26 & A76 6HS-1 100 Mean: 4HS6 680 50 3
v KT2 3NS-2100 140  3NN3 400 60 1 v QT62 4HS4 -620 490  4HS5 650 40 3
o AT42 Dif: -50 NS:-6 5SXW-1 200 20 1 + A9732 Dif: 720 NS:4 4HS4 620 40 2
# AKT82 IMP: -2 EW:5 A 00 2 a A IMP: 12 EW:11 A 0.0 2
» AQT876 aJ5 4HS-1 50 -5.0 2 ||a KT42 » 98 6HS-1 100 1.0 1
v 874 v QJ9 3NS-1 50 50 1[|e8 _|_ v J75 4SN-2 200 120 1
+ 986 + K75 3NS-2 100 60 2 ||e T6 + KQ54
&7 & J9653 & KJT532 & Q987
oo VAN 4KOM3 eV ABN 4, Q53
N 333 ~2 «A653 N ~ 46 43 » AK943
S 333~2 ¢+QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ a064
~~~~~ W 2 ~ o~ o~ o~
# 27 a A73 1NN4 -180 Mean: 3NN4 430 70 1 ||# 28 » 87 2SE4 170 Mean: 4HW-1 50 60 1
v Q2 3NN4 -430 150 2NN4 180 10 1 v Q8 1NE4 180 -190  3SW3 140 2.0 1
¢ AK Dif: 250 NS:7 1NN4 180 1.0 1 + AQ4 Dif: -10 NS:-0 1NE2 420 2.0 1
& KQT974 IMP: 6 EW:-1 A 00 2 » KQ8752 IMP: 0 EW:-1 2SE4 470 1.0 3
A T9 » KJ854 1NN3 150 0.0 2 ||a Q9532 » KJ6 2HE4 470 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 || KJ95 I v AT4 A 00 2
* J6432 ¢ QT 2NN2 120 10 1 ||e T98 * K2 2SE5 200 0.0 1
» J6 & A82 3NN-1 50 5.0 1 & AJT64 1NE4 180 0.0 1
eV AN 4,Q62 R eVABN 4 ATE 4SXW5 690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3 ~~~3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 2SS3 -140 Mean: 3SN5 200 20 1 |[|# 30 » Q95 2HN3 -140 Mean: 4HS4 420 6.0 1
v J8743 2SS4 -170 130  2SS5 200 20 1 v AQ6543 2HN3 -140 200  4HN4 420 60 1
+ KT63 Dif: 30 NS:1 1SS5 200 20 1 ¢ T5 Dif: 0 NS:2 3NS4 430 60 1
& A3 IMP: 1 EW:-0 2SS4 170 10 3 a Q4 IMP: 0 EW:2 A 0.0 2
# Q76 N # K5 A 00 2 ||aJ83 » T762 3HN4 170 1.0 1
v K95 v QT62 2ss3 140 00 3 ||e KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J 2HN-2 200 80 1 ||e A982 + KJ6 2HN3 140 20 3
& T7 & KQ9852 & K86 & J972 4HS-1 -50 60 1
B o VAN 4,AIT843 S eVAN 4 AK4
N ~3~43 9A N ~~3~1 97
S ~3~42 ¢A98 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ & AT53
1~~~-~ W o~~~~~




¥ l\ ——
6 102§ < 2RIBERE 2B == RE 6
AVA
#1: 3 BE(82.86) #2: 6 =r 4415(72.21) #3: 2 BB 2 5 (70.18)
4 NS: #R880F Fs=HAEE0) 2 5 NS: B STRI(EC) -29 VP:| 17.34 : 2.66 | Total VP: 67.42 Rank:
EW: R{-5% BT+ EHC) 28 EW: EEBIE BBk =(BRO) 2 IMP:| 43 16 4
__ _ -
# 21 s 165 3NN3 600 Mean: 3NN4 630 1.0 4 ||# 22 a 7643 3NE4 -630 Mean: 5SE-1 100 120 1
v K3 3NN3 600 610 A 00 2 v 9743 3NE5-660 -580 A 0.0 2
+ K875 Dif: 0 NS:0 3NN3 600 00 6 ¢ 97 Dif: 30 NS:-2 3NW5 660 20 7
» AQT3 IMP: 0 EW:0 » A86 IMP:1 EW:2 3NE5 660 20 1
& K72 & JB843 4 KQT2 & AJ8 3NE4 -630 -2.0 1
v JT7 v Q852 v KJ85 — v6
+ AQ4 | + JT6 *3 * KQUT42
& 9852 & J4 & KQJ4 & T97
B o VAN 4 AQ9 P OVABN 495
N 44 ~~ 3 ¢ A%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ ¢ A865
E ~~~~~ & K76 E 44~34 532
~~~~~ W 44~34
# 23 » JT95 2DE3 -110 Mean: 2DW2 -90 1.0 1 [|# 24 a 742 ANE1 -90 Mean: 1NN1 90 3.0 2
v J9 1NE3 -150 -110 A 00 2 v A76 PO 30 2HW-1 50 20 1
+ K85 Dif: 40 NS:0 2HW2 410 00 5 ¢ 976 Dif: -90 NS:2 P 0 10 3
#» KT92 IMP: 1 EW:1 2DW3 410 00 1 » AK62 IMP: -3 EW:1 A 00 2
a A32 » K87 2DE3 410 00 1 ||aK5 # Q963 1NN-1 50 -1.0 1
v AKQT5 + v 32 2owa 130 40 1 ||e 98 v QJT3 INEA1 2 20 1
¢ T42 * J763 1NE3 450 1.0 1 ||e AQ54 * KJ8 4HS-3 150 3.0 1
& 83 S & AJ54 & T7543 & J8 3NXN-2 -300 -7.0 1
o eVAN 4,Q64 P eVABN 4, AJT8
N ~~~1~ 8764 N ~~112 @ K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E~1~~~ Q9
~22~2 W ~1~~~
# 25 a2 3NN3 400 Mean: 3NS3 400 60 3 ||# 26 & A76 4SN-2 -200 Mean: 4HS6 680 50 3
v KT2 3NS-1-50 140  3NN3 400 60 1 v QT62 4HS5650 490  4HS5 650 40 3
o AT42 Dif: 450 NS:6 5SXW-1 200 2.0 1 + A9732 Dif: -850 NS:-12 4HS4 620 40 2
# AKT82 IMP:10 EW:5 A 00 2 a A IMP: -13 EW:4 A 0.0 2
» AQT876 aJ5 4HS-1 50 -5.0 2 ||a KT42 » 98 6HS-1 100 1.0 1
v 874 v QJ9 3NS-1 50 50 1[|e8 _|_ v J75 4SN-2 200 120 1
+ 986 + K75 3NS-2 100 60 2 ||e T6 + KQ54
&7 & J9653 & KJT532 & Q987
oo VAN 4KOM3 eV ABN 4, Q53
N 333 ~2 #A653 N ~ 46 43 » AK943
S 333~2 ¢+QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ a064
~~~~~ W 2 ~ o~ o~ o~
# 27 a A73 2NN2 120 Mean: 3NN4 430 70 1 ||# 28 » 87 2HE4 -170 Mean: 4HW-1 50 60 1
v Q2 3NN-1-50 150 2NN4 180 10 1 v Q8 4SXW5 -690 -190 3SW3 140 2.0 1
¢ AK Dif: 170 NS:-1  1NN4 180 1.0 1 + AQ4 Dif: 520 NsS:1 1NE2 420 2.0 1
& KQT974 IMP: 5 EW:5 A 00 2 » KQ8752 IMP: 11 EW:11 2SE4 470 1.0 3
A T9 » KJ854 1NN3 150 0.0 2 ||a Q9532 » KJ6 2HE4 470 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 || KJ95 I v AT4 A 00 2
* J6432 ¢ QT 2NN2 120 10 1 ||e T98 * K2 2SE5 200 0.0 1
a & A82 3NN-1 50 5.0 1 & AJT64 1NE4 180 0.0 1
eV AN 4,Q62 R eVABN 4 ATE 4SXW5 690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3 ~~~3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 3SN5 200 Mean: 3SN5 200 20 1 |[|# 30 » Q95 4HS4 420 Mean: 4HS4 420 6.0 1
v J8743 2HN-2 -200 130  2SS5 200 20 1 v AQ6543 3HN4 170 200  4HN4 420 60 1
+ KT63 Dif: 400 NS:2 1SS5 200 20 1 ¢ T5 Dif: 250 NS:6 3NS4 430 60 1
& A3 IMP: 9 EW:8 2SS4 170 10 3 a Q4 IMP: 6 EW:1 A 0.0 2
# Q76 N # K5 A 00 2 ||aJ83 » T762 3HN4 170 1.0 1
v K95 v QT62 2ss3 140 00 3 ||e KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J 2HN-2 200 80 1 ||e A982 + KJ6 2HN3 140 20 3
& T7 & KQ9852 & K86 & J972 4HS-1 -50 60 1
B o VAN 4,AIT843 S eVAN 4 AK4
N ~3~43 9A N ~~3~1 97
S ~3~42 ¢A98 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ & AT53
1~~~-~ W o~~~~~




¥ l\ ——
6 102§ < 2RIBERE 2B == RE 6
AVA
#1: 3 BE(82.86) #2: 6 =r 4415(72.21) #3: 2 BB 2 5 (70.18)
5 NS: B, STSRIAL(HIC) -28 4 NS: RIS FREARIO) 2 | VP:| 2.66 : 17.34| Total VP: 35.70 Rank:
EW: BEEIE Wiskm(3I0) 2 EW: B{-5 BII#(EIC) 2 IMP:| 16 43 10
__ _ __
# 21 s 165 3NN3 -600 Mean: 3NN4 630 1.0 4 ||# 22 a 7643 3NE4 630 Mean: 5SE-1 100 120 1
v K3 3NN3 -600 610 A 00 2 v 9743 3NE5660 -580 A 0.0 2
+ K875 Dif: 0 NS:-0 3NN3 600 00 6 ¢ 97 Dif: -30 NS:-2 3NW5 660 20 7
» AQT3 IMP: 0 EW:-0 » A86 IMP: -1 EW:2 3NE5 660 20 1
& K72 & JB843 4 KQT2 & AJ8 3NE4 -630 -2.0 1
v JT7 v Q852 v KJ85 — v6
+ AQ4 | + JT6 *3 * KQUT42
& 9852 & J4 & KQJ4 & T97
B o VAN 4 AQ9 P OVABN 495
N 44 ~~ 3 ¢ A%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ ¢ A865
E ~~~~~ & K76 E 44~34 532
~~~~~ W 44~34
# 23 » JT95 2DE3 110 Mean: 2DW2 -90 1.0 1 [|# 24 a 742 1NE1 90 Mean: 1NN1 90 3.0 2
v J9 1NE3 150 -110 A 00 2 v A76 PO 30 2HW- 50 20 1
+ K85 Dif: -40 NS:-1 2HW2 410 00 5 ¢ 976 Dif: 90 NS:1 P 0 10 3
#» KT92 IMP: -1 EW:-0 2DW3 410 00 1 » AK62 IMP: 3 EW:2 A 00 2
a A32 » K87 2DE3 410 00 1 ||aK5 # Q963 1NN-1 50 -1.0 1
v AKQT5 + v 32 2owa 130 40 1 ||e 98 v QJT3 INEA1 2 20 1
¢ T42 * J763 1NE3 450 1.0 1 ||e AQ54 * KJ8 4HS-3 150 3.0 1
& 83 S & AJ54 & T7543 & J8 3NXN-2 -300 -7.0 1
o eVAN 4,Q64 P eVABN 4, AJT8
N ~~~1~ 8764 N ~~112 @ K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E~1~~~ Q9
~22~2 W ~1~~~
# 25 a2 3NN3 -400 Mean: 3NS3 400 60 3 ||# 26 & A76 4SN-2 200 Mean: 4HS6 680 50 3
v KT2 3NS-150 140  3NN3 400 60 1 v QT62 4HS5-650 490  4HS5 650 40 3
o AT42 Dif: -450 NS:-5 5SXW-1 200 20 1 + A9732 Dif: 850 NS:4 4HS4 620 40 2
# AKT82 IMP: -10 EW:-6 A 00 2 a A IMP: 13 EW:12 A 0.0 2
» AQT876 aJ5 4HS-1 50 -5.0 2 ||a KT42 » 98 6HS-1 100 1.0 1
v 874 v QJ9 3NS-1 50 50 1||e8 _|_ v J75 4SN-2 200 120 1
+ 986 + K75 3NS-2 100 60 2 ||e T6 + KQ54
&7 & J9653 & KJT532 & Q987
oo VAN 4KOM3 eV ABN 4, Q53
N 333 ~2 «A653 N ~ 46 43 » AK943
S 333~2 ¢+QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ a064
~~~~~ W 2 ~ o~ o~ o~
# 27 a A73 2NN2 -120 Mean: 3NN4 430 70 1 ||# 28 » 87 2HE4 170 Mean: 4HW-1 50 60 1
v Q2 3NN-150 150 2NN4 180 10 1 v Q8 4SXW5 690 -190 3SW3 140 2.0 1
¢ AK Dif: -170 NS:-5 1NN4 180 1.0 1 + AQ4 Dif: -520 NS:-11 1NE2 420 2.0 1
& KQT974 IMP: -5 EW:1 A 00 2 » KQ8752 IMP: -11 EW:-1 2SE4 470 1.0 3
aT9 » KJ854 1NN3 150 0.0 2 ||a Q9532 » KJ6 2HE4 470 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 || KJ95 I v AT4 A 00 2
* J6432 ¢ QT 2NN2 120 10 1 ||e T98 * K2 2SE5 200 0.0 1
» J6 & A82 3NN-1 50 5.0 1 & AJT64 1NE4 180 0.0 1
eV AN 4,Q62 R eVABN 4 ATE 4SXW5 690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3 ~~~3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 3SN5 -200 Mean: 3SN5 200 20 1 |[|# 30 » Q95 4HS4 -420 Mean: 4HS4 420 60 1
v J8743 2HN-2200 130 2SS5 200 20 1 v AQ6543 3HN4 -170 200  4HN4 420 60 1
+ KT63 Dif: -400 Ns:-8 1SS5 200 20 1 ¢ T5 Dif: 250 NS:-1 3NS4 430 60 1
& A3 IMP: -9 EW:-2 2SS4 170 10 3 a Q4 IMP: -6 EW:6 A 0.0 2
# Q76 N a K5 A 00 2 ||aJs3 » T762 3HN4 170 1.0 1
v K95 v QT62 2ss3 140 00 3 ||e KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J 2HN-2 200 80 1 ||e A982 + KJ6 2HN3 140 20 3
& T7 & KQ9852 & K86 & J972 4HS-1 -50 60 1
B o VAN 4,AIT843 S eVAN 4 AK4
N ~3~43 9A N ~~3~1 97
S ~3~42 ¢A98 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ & AT53
1~~~-~ W o~~~~~




¥ l\ ——
6 102§ < 2RIBERE 2B == RE 6
AVA
#1: 3 BE(82.86) #2: 6 =r 4415(72.21) #3: 2 BB 2 5 (70.18)
6 INS: fa528) BaknsR(5E0) 10 7 NS: FfmE SHE(BAC) -9 VP:[ 1597 : 4.03 | Total VP: 72.21 Rank:
EW: SEESS MREFEEHC) 9 EW: #i&iE 23,_(510) -1 IMP:| 24 : 4 2
__ _ __
# 21 s 165 3NN4 630 Mean: 3NN4 630 1.0 4 ||# 22 a 7643 3NW5 -660 Mean: 5SE-1 100 120 1
v K3 3NN3 600 610 A 00 2 v 9743 3NW5 -660 -580 A 0.0 2
+ K875 Dif: 30 NS:1 3NN3 600 00 6 ¢ 97 Dif: 0 NS:2 3NW5 660 20 7
» AQT3 IMP: 1 EW:0 » A86 IMP: 0 EW:2 3NE5 660 20 1
& K72 & JB843 4 KQT2 & AJ8 3NE4 -630 -2.0 1
v JT7 v Q852 v KJ85 — v6
+ AQ4 | + JT6 *3 * KQUT42
& 9852 & J4 & KQJ4 & T97
B o VAN 4 AQ9 P OVABN 495
N 44 ~~ 3 ¢ A%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ ¢ A865
E ~~~~~ & K76 E 44~34 532
~~~~~ W 44~34
# 23 » JT95 2DW2 -90 Mean: 2DW2 -90 1.0 1 [|# 24 a 742 3NXN-2 -300 Mean: 1NN1 90 3.0 2
v J9 2HW2 -110 -110 A 00 2 v A76 4HS-3-150 -30  2HW-1 50 20 1
+ K85 Dif: 20 NS:1 2HW2 410 00 5 ¢ 976 Dif: -150 Ns:7 P 0 10 3
#» KT92 IMP: 1 EW:0 2DW3 410 00 1 » AK62 IMP: -4 EW:3 A 00 2
a A32 » K87 2DE3 410 00 1 ||aK5 # Q963 1NN-1 50 -1.0 1
v AKQT5 + v 32 2owa 130 40 1 ||e 98 v QJT3 INEA1 2 20 1
¢ T42 * J763 1NE3 450 1.0 1 ||e AQ54 * KJ8 4HS-3 150 3.0 1
& 83 S & AJ54 & T7543 & J8 3NXN-2 -300 -7.0 1
o eVAN 4,Q64 P eVABN 4, AJT8
N ~~~1~ 8764 N ~~112 @ K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E~1~~~ Q9
~22~2 W ~1~~~
# 25 a2 3NS3 400 Mean: 3NS3 400 60 3 ||# 26 & A76 4HS6 680 Mean: 4HS6 680 50 3
v KT2 3NS-2-100 140  3NN3 400 60 1 v QT62 4HS4 620 490  4HS5 650 40 3
o AT42 Dif: 500 NS:6 5SXW-1 200 2.0 1 + A9732 Dif: 60 NS:5 4HS4 620 40 2
# AKT82 IMP: 11 EW: A 00 2 a A IMP: 2 EW:-4 A 0.0 2
» AQT876 aJ5 4HS-1 50 -5.0 2 ||a KT42 » 98 6HS-1 100 1.0 1
v 874 v QJ9 3NS-1 50 50 1[|e8 _|_ v J75 4SN-2 200 120 1
+ 986 + K75 3NS-2 100 60 2 ||e T6 + KQ54
&7 & J9653 & KJT532 & Q987
oo VAN 4KOM3 eV ABN 4, Q53
N 333 ~2 #A653 N ~ 46 43 » AK943
S 333~2 ¢+QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ a064
~~~~~ W 2 ~ o~ o~ o~
# 27 a A73 1NN3 150 Mean: 3NN4 430 70 1 ||# 28 » 87 4HW-1 50 Mean: 4HW-1 50 60 1
v Q2 3CN4 130 150 2NN4 180 10 1 v Q8 2SE4 -170 -190  3SW3 140 2.0 1
¢ AK Dif: 20 NS:0 1NN4 180 1.0 1 + AQ4 Dif: 220 NS:6 1NE2 420 2.0 1
& KQT974 IMP:1 EW:1 A 00 2 » KQ8752 IMP: 6 EW:-1 2SE4 470 1.0 3
A T9 » KJ854 1NN3 150 0.0 2 ||a Q9532 » KJ6 2HE4 470 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 || KJ95 I v AT4 A 00 2
* J6432 ¢ QT 2NN2 120 10 1 ||e T98 * K2 2SE5 200 0.0 1
» J6 & A82 3NN-1 50 5.0 1 & AJT64 1NE4 180 0.0 1
eV AN 4,Q62 R eVABN 4 ATE 4SXW5 690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3 ~~~3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 2SS5200 Mean: 3SN5 200 20 1 |[|# 30 » Q95 2HN3 140 Mean: 4HS4 420 6.0 1
v J8743 2SS3140 130 2SS5 200 20 1 v AQ6543 3HN3 140 200  4HN4 420 60 1
+ KT63 Dif: 60 NS:2 1SS5 200 20 1 ¢ T5 Dif: 0 NS:2 3NS4 430 60 1
& A3 IMP: 2 EW:0 2SS4 170 10 3 a Q4 IMP: 0 EW:2 A 0.0 2
# Q76 N # K5 A 00 2 ||aJ83 » T762 3HN4 170 1.0 1
v K95 v QT62 2ss3 140 00 3 ||e KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J 2HN-2 200 80 1 ||e A982 + KJ6 2HN3 140 20 3
& T7 & KQ9852 & K86 & J972 4HS-1 -50 60 1
B o VAN 4,AIT843 S eVAN 4 AK4
N ~3~43 9A N ~~3~1 97
S ~3~42 ¢A98 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ & AT53
1~~~-~ W o~~~~~




¥ l\ ——
6 102§ < 2RIBERE 2B == RE 6
AVA
#1: 3 BE(82.86) #2: 6 =r 4415(72.21) #3: 2 BB 2 5 (70.18)
7 NS: #Fn2E HREEIC) 9 6 NS: f]sRE) #mEE(BAO) 10 VP:| 4.03 15.97| Total VP: 47.18 Rank:
EW: Pl R5A{=(5H0) -10 EW: g4 M5 (FAC) 9 IMP:| 4 : 24 9
__ _ __
# 21 s 165 3NN4 -630 Mean: 3NN4 630 1.0 4 ||# 22 a 7643 3NW5 660 Mean: 5SE-1 100 120 1
v K3 3NN3 -600 610 A 00 2 v 9743 3NW5 660 -580 A 0.0 2
+ K875 Dif: -30 NS:-0 3NN3 600 00 6 ¢ 97 Dif: 0 NS:2 3NW5 660 20 7
» AQT3 IMP: -1 EW:-1 » A86 IMP: 0 EW:2 3NE5 660 20 1
& K72 & JB843 4 KQT2 & AJ8 3NE4 -630 -2.0 1
v JT7 v Q852 v KJ85 — v6
+ AQ4 | + JT6 *3 * KQUT42
& 9852 & J4 & KQJ4 & T97
B o VAN 4 AQ9 P OVABN 495
N 44 ~~ 3 ¢ A%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ ¢ A865
E ~~~~~ & K76 E 44~34 532
~~~~~ W 44~34
# 23 » JT95 2DW2 90 Mean: 2DW2 -90 1.0 1 [|# 24 a 742 3NXN-2 300 Mean: 1NN1 90 3.0 2
v J9 2HW2 110 -110 A 00 2 v A76 4HS-3150 -30  2HW-1 50 20 1
+ K85 Dif: 20 NS:-0 2HW2 410 00 5 ¢ 976 Dif: 150 Ns:-3 P 0 10 3
#» KT92 IMP: -1 EW:-1 2DW3 410 00 1 » AK62 IMP: 4 EW:7 A 00 2
a A32 » K87 2DE3 410 00 1 ||aK5 # Q963 1NN-1 50 -1.0 1
v AKQT5 + v 32 2owa 130 40 1 ||e 98 v QJT3 INEA1 2 20 1
¢ T42 * J763 1NE3 450 1.0 1 ||e AQ54 * KJ8 4HS-3 150 3.0 1
& 83 S & AJ54 & T7543 & J8 3NXN-2 -300 -7.0 1
o eVAN 4,Q64 P eVABN 4, AJT8
N ~~~1~ 8764 N ~~112 @ K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E~1~~~ Q9
~22~2 W ~1~~~
# 25 a2 3NS3 -400 Mean: 3NS3 400 60 3 ||# 26 & A76 4HS6 -680 Mean: 4HS6 680 50 3
v KT2 3NS-2100 140  3NN3 400 60 1 v QT62 4HS4 -620 490  4HS5 650 40 3
o AT42 Dif: -500 NS:-6 5SXW-1 200 20 1 + A9732 Dif: -60 NS:4 4HS4 620 40 2
# AKT82 IMP: -11 EW:-6 A 00 2 a A IMP: -2 EW:5 A 0.0 2
» AQT876 aJ5 4HS-1 50 -5.0 2 ||a KT42 » 98 6HS-1 100 1.0 1
v 874 v QJ9 3NS-1 50 50 1[|e8 _|_ v J75 4SN-2 200 120 1
+ 986 + K75 3NS-2 100 60 2 ||e T6 + KQ54
&7 & J9653 & KJT532 & Q987
oo VAN 4KOM3 eV ABN 4, Q53
N 333 ~2 «A653 N ~ 46 43 » AK943
S 333~2 ¢+QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ a064
~~~~~ W 2 ~ o~ o~ o~
# 27 a A73 1NN3 -150 Mean: 3NN4 430 70 1 ||# 28 » 87 4HW-1 -50 Mean: 4HW-1 50 60 1
v Q2 3CN4 -130 150  2NN4 180 10 1 v Q8 2SE4 170 -190  3SW3 140 2.0 1
¢ AK Dif: 20 NS:-1 1NN4 180 1.0 1 + AQ4 Dif: -220 NsS:1  INE2 420 2.0 1
& KQT974 IMP: -1 EW:-0 A 00 2 » KQ8752 IMP: -6 EW:-6 2SE4 470 1.0 3
A T9 » KJ854 1NN3 150 0.0 2 ||a Q9532 » KJ6 2HE4 470 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 || KJ95 I v AT4 A 00 2
* J6432 ¢ QT 2NN2 120 10 1 ||e T98 * K2 2SE5 200 0.0 1
» J6 & A82 3NN-1 50 5.0 1 & AJT64 1NE4 180 0.0 1
eV AN 4,Q62 R eVABN 4 ATE 4SXW5 690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3 ~~~3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 2SS5-200 Mean: 3SN5 200 20 1 |[|# 30 » Q95 2HN3 -140 Mean: 4HS4 420 6.0 1
v J8743 2SS3-140 130  2SS5 200 20 1 v AQ6543 3HN3 -140 200  4HN4 420 60 1
+ KT63 Dif: -60 NS:-0 1SS5 200 20 1 ¢ T5 Dif: 0 NS:2 3NS4 430 60 1
& A3 IMP: -2 EW:-2 2SS4 170 10 3 a Q4 IMP: 0 EW:2 A 0.0 2
# Q76 N # K5 A 00 2 ||aJ83 » T762 3HN4 170 1.0 1
v K95 v QT62 2ss3 140 00 3 ||e KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J 2HN-2 200 80 1 ||e A982 + KJ6 2HN3 140 20 3
& T7 & KQ9852 & K86 & J972 4HS-1 -50 60 1
B o VAN 4,AIT843 S eVAN 4 AK4
N ~3~43 9A N ~~3~1 97
S ~3~42 ¢A98 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ & AT53
1~~~-~ W o~~~~~




¥ l\ ——
6 102§ < 2RIBERE 2B == RE 6
AVA
#1: 3 BE(82.86) #2: 6 =r 4415(72.21) #3: 2 BB 2 5 (70.18)
8 NS: BEZER 5R({{EEE0) 13 9 NS:JFE R sS4+ (Fic) d VP:[ 13.72 : 6.28 | Total VP: 51.49 Rank:
EW: #5813 ZEHE2EHC) 0 EW: 5EIER] #5/345(B0) -1 IMP:| 16 5 8
__ _ __
# 21 s 165 3NN3 600 Mean: 3NN4 630 1.0 4 |[# 22 a 7643 3NW5 -660 Mean: 5SE-1 100 120 1
v K3 3NN3 600 610 A 00 2 v 9743 3NW5 -660 -580 A 0.0 2
+ K875 Dif: 0 NS:0 3NN3 600 00 6 ¢ 97 Dif: 0 NS:2 3NW5 660 -20 7
» AQT3 IMP: 0 EW:0 » A86 IMP: 0 EW:2 3NE5 660 -2.0 1
& K72 & JB843 4 KQT2 & AJ8 3NE4 -630 -2.0 1
v JT7 v Q852 v KJ85 — v6
+ AQ4 | + JT6 *3 * KQUT42
& 9852 & J4 & KQJ4 & T97
B o VAN 4 AQ9 P OVABN 495
N 44 ~~ 3 ¢ A%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ ¢ A865
E ~~~~~ & K76 E 44~34 532
~~~~~ W 44~34
# 23 & JT95 2HW2 -110 Mean: 2DW2 -90 1.0 1 ||# 24 & 742 P 0 Mean: 1NN1 90 3.0 2
v J9 2DW4-130 -110 A 00 2 v A76 2HW-150 -30  2HW-1 50 20 1
+ K85 Dif: 20 NS:0 2HW2 410 00 5 ¢ 976 Dif: -50 NS:1 P 0 10 3
& KT92 IMP:1 EW:1 2DW3 410 00 1 » AKB2 IMP: -2 EW:2 A 00 2
a A32 » K87 2DE3 410 00 1 ||aK5 # Q963 1NN-1 50 1.0 1
v AKQT5 + v 32 2owa 130 40 1 ||e 98 v QJT3 INEA1 2 20 1
¢ T42 * J763 1NE3 450 1.0 1 ||e AQ54 * KJ8 4HS-3 450 3.0 1
& 83 S & AJ54 & T7543 & J8 3NXN-2 -300 -7.0 1
o eVAN 4,Q64 P eVABN 4, AJT8
N ~~~1~ 8764 N ~~112 @ K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E~1~~~ Q9
~22~2 W ~1~~~
# 25 a2 5SXW-1 200 Mean: 3NS3 400 60 3 ||# 26 & A76 4HS5 650 Mean: 4HS6 680 50 3
v KT2 4HS-1-50 140  3NN3 400 6.0 1 v QT62 4HS6 680 490  4HS5 650 40 3
o AT42 Dif: 250 NS:2 5SXW-1 200 2.0 1 ¢ A9732 Dif: -30 NS:4 4HS4 620 40 2
& AKT82 IMP: 6 EW:5 A 00 2 a A IMP: -1 EW:5 A 0.0 2
» AQT876 aJ5 4HS-1 50 -5.0 2 ||a KT42 » 98 6HS-1 4100 -11.0 1
v 874 v QJ9 3NS-1 50 50 1||e8 _|_ v J75 4SN-2 200 120 1
+ 986 + K75 3NS-2 100 60 2 ||e T6 + KQ54
&7 & J9653 & KJT532 & Q987
oo VAN 4KOM3 eV ABN 4, Q53
N 333 ~2 #A653 N ~ 46 43 » AK943
S 333~2 ¢+QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ a064
~~~~~ W 2 ~ o~ o~ o~
# 27 a A73 3CN4 130 Mean: 3NN4 430 7.0 1 ||# 28 » 87 1NE2 -120 Mean: 4HW-1 50 60 1
v Q2 2NN4 180 150  2NN4 180 10 1 v Q8 3SW3 -140 -190 3SW3 140 2.0 1
+ AK Dif: -50 NS:-1 1NN4 180 1.0 1 + AQ4 Dif: 20 NS:2 1NE2 120 20 1
& KQT974 IMP: -2 EW:-1 A 00 2 » KQ8752 IMP: 1 EW:-2 2SE4 470 1.0 3
A T9 » KJ854 1NN3 150 0.0 2 ||a Q9532 » KJ6 2HE4 470 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 || KJ95 I v AT4 A 00 2
* J6432 ¢ QT 2NN2 120 10 1 ||e T98 * K2 2SE5 200 0.0 1
» J6 » A82 3NN-1 50 5.0 1 & AJT64 1NE4 180 0.0 1
eV AN 4,Q62 F ¢ VABN oATE 4SXW5  -690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3 ~~~3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 2SS4 170 Mean: 3SN5 200 20 1 |[|# 30 » Q95 4HN4 420 Mean: 4HS4 420 6.0 1
v J8743 2SS3140 130 2SS5 200 20 1 v AQ6543 3HN3 140 200  4HN4 420 60 1
+ KT63 Dif: 30 NS:1 1SS5 200 20 1 ¢ T5 Dif: 280 NS:6 3NS4 430 60 1
& A3 IMP: 1 EW:0 2SS4 170 10 3 s Q4 IMP: 7 EW:2 A 0.0 2
s Q76 N a K5 A 00 2 ||aJ83 » T762 3HN4 170 1.0 1
v K95 v QT62 2ss3 140 00 3 ||e KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J 2HN-2 200 80 1 ||e A982 + KJ6 2HN3 140 20 3
& T7 & KQ9852 & K86 & J972 4HS-1 -50 60 1
B o VAN 4,AIT843 S eVAN 4 AK4
N ~3~43 9A N ~~3~1 97
S ~3~42 ¢A98 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ & AT53
1~~~-~ W o~~~~~




10&EF<F 2RBERFRE
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#1: 3 BE/(82.86) #2: 6 £ 4-H(72.21) #3: 2 BB 5(70.18)

9 NS: 7F2H S5%FEC) 0 8 NS: BREZE 5R{_{5(F0) 13 VP:| 6.28 13.72| Total VP: 66.35 Rank:
EW: SEIER ME4E(EE0) -13 EW: Bi# ERRE(BIC) 0 IMP:| 5 : 16 5
__ _ __
# 21 s 165 3NN3 -600 Mean: 3NN4 630 1.0 4 |[# 22 a 7643 3NW5 660 Mean: 5SE-1 100 120 1
v K3 3NN3 -600 610 A 00 2 v 9743 3NW5660 -580 A 0.0 2
+ K875 Dif: 0 NS:-0 3NN3 600 00 6 ¢ 97 Dif: 0 NS:2 3NW5 660 -20 7
» AQT3 IMP: 0 EW:-0 » A86 IMP: 0 EW:2 3NE5 660 -2.0 1
& K72 & JB843 4 KQT2 & AJ8 3NE4 -630 -2.0 1
v JT7 v Q852 v KJ85 — v6
+ AQ4 | + JT6 *3 * KQUT42
& 9852 & J4 & KQJ4 & T97
B o VAN 4 AQ9 P OVABN 495
N 44 ~~ 3 ¢ A%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ ¢ A865
E ~~~~~ & K76 E 44~34 532
~~~~~ W 44~34
# 23 & JT95 2HW2 110 Mean: 2DW2 -90 1.0 1 ||# 24 & 742 P 0 Mean: 1NN1 90 3.0 2
v J9 2DW4 130 -110 A 00 2 v A76 2HW-1-50 -30  2HW-1 50 20 1
+ K85 Dif: 20 NS:-1 2HW2 410 00 5 ¢ 976 Dif: 50 NS:2 P 0 10 3
& KT92 IMP: -1 EW:-0 2DW3 410 00 1 » AKB2 IMP: 2 EW:-1 A 00 2
a A32 » K87 2DE3 410 00 1 ||aK5 # Q963 1NN-1 50 1.0 1
v AKQT5 + v 32 2owa 130 40 1 ||e 98 v QJT3 INEA1 2 20 1
¢ T42 * J763 1NE3 450 1.0 1 ||e AQ54 * KJ8 4HS-3 450 3.0 1
& 83 S & AJ54 & T7543 & J8 3NXN-2 -300 -7.0 1
deVAN ,Q64 P eVABN 4, AJT8
N ~~~1~ 8764 N ~~112 @ K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E~1~~~ Q9
~22~2 W ~1~~~
# 25 a2 5SXW-1-200 Mean: 3NS3 400 60 3 ||# 26 & A76 4HS5 -650 Mean: 4HS6 680 50 3
v KT2 4HS-150 140  3NN3 400 6.0 1 v QT62 4HS6 -680 490  4HS5 650 40 3
o AT42 Dif: 250 NS:-5 5SXW-1 200 20 1 ¢ A9732 Dif: 30 NS:5 4HS4 620 40 2
& AKT82 IMP: -6 EW:-2 A 00 2 a A IMP: 1 EW:-4 A 0.0 2
» AQT876 aJ5 4HS-1 50 -5.0 2 ||a KT42 » 98 6HS-1 4100 -11.0 1
v 874 v QJ9 3NS-1 50 50 1||e8 _|_ v J75 4SN-2 200 120 1
+ 986 + K75 3NS-2 100 60 2 ||e T6 + KQ54
&7 & J9653 & KJT532 & Q987
oo VAN 4KOM3 eV ABN 4, Q53
N 333 ~2 #A653 N ~ 46 43 » AK943
S 333~2 ¢+QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ a064
~~~~~ W 2 ~ o~ o~ o~
# 27 a A73 3CN4 -130 Mean: 3NN4 430 7.0 1 ||# 28 » 87 1NE2 120 Mean: 4HW-1 50 60 1
v Q2 2NN4 -180 150  2NN4 180 10 1 v Q8 3SW3 140 -190 3SW3 140 2.0 1
+ AK Dif: 50 NS:1 1NN4 180 1.0 1 + AQ4 Dif: 20 NS:2 1NE2 120 20 1
& KQT974 IMP:2 EW:1 A 00 2 » KQ8752 IMP: -1 EW:-2 2SE4 470 1.0 3
aT9 » KJ854 1NN3 150 0.0 2 ||a Q9532 » KJ6 2HE4 470 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 || KJ95 I v AT4 A 00 2
* J6432 ¢ QT 2NN2 120 10 1 ||e T98 * K2 2SE5 200 0.0 1
a » A82 3NN-1 50 5.0 1 & AJT64 1NE4 180 0.0 1
eV AN 4,Q62 F ¢ VABN oATE 4SXW5  -690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3 ~~~3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 2SS4 -170 Mean: 3SN5 200 20 1 |[|# 30 » Q95 4HN4 -420 Mean: 4HS4 420 60 1
v J8743 2SS3-140 130  2SS5 200 20 1 v AQ6543 3HN3 -140 200  4HN4 420 60 1
+ KT63 Dif: -30 NS:-0 1SS5 200 20 1 ¢ T5 Dif: 280 NS:-2 3NS4 430 60 1
& A3 IMP: -1 EW:-1 2SS4 170 10 3 s Q4 IMP: -7 EW:-6 A 0.0 2
s Q76 N a K5 A 00 2 ||aJs3 » T762 3HN4 170 1.0 1
v K95 v QT62 2ss3 140 00 3 ||e KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J 2HN-2 200 80 1 ||e A982 + KJ6 2HN3 140 20 3
& T7 & KQ9852 & K86 & J972 4HS-1 -50 60 1
B o VAN 4,AIT843 S eVAN 4 AK4
N ~3~43 9A N ~~3~1 97
S ~3~42 ¢A98 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ & AT53
1~~~-~ W o~~~~~




¥ l\ ——
6 11023 2RABERF 2P & ==> RE 6
AVA
#1: 3 BER(82. 86) #: 65T 4415(72.21) #3: 2 BB 2 5 (70.18)
1 O INS: ERiE BRERTEEAC) 20 2 S: 32HE HTFH(FO) 7 VP:| 13.72 : 6.28 | Total VP: 63.72 Rank:
EW: B3R B (E0) -7 EW: BBt 2322 (BAC) -2 IMP:| 13 : 2 6
__ _ __
# 21 4 165 3NN4 -630 Mean: 3NN4 630 1.0 4 # 22 A 7643 3NW5 660 Mean: 5SE-1 100 120 1
v K3 3NN3 -600 610 A 00 2 v 9743 3NW5660 -580 A 00 2
+ K875 Dif: -30 NS:-0 3NN3 600 0.0 6 ¢ 97 Dif: 0 NS:-2 3NW5 -660 20 7
& AQT3 IMP: -1 EW:-1 » A86 IMP: 0 EW:2 3NE5 -660 20 1
A K72 » J843 & KQT2 » AJ8 3NE4 630 20 1
v JT7 v Q852 v KJ85 — v6
* AQ4 | + JT6 *3 » KQUT42
» 9852 » J4 * KQJ4 » T97
oV ABN ,AQ SOV ABN 45
N 44 ~~3 9A9%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ + A865
E ~~~~~ & K76 E 44~34 4532
~~~~~ W 44~34
# 23 » JT95 2DW3 110 Mean: 2DW2 9 1.0 1 |[|# 24 a 742 1NN1 -90 Mean: 1NN1 90 30 2
v J9 2HW2 110 -110 A 00 2 v A76 1NN1-90 -30  2HW-1 50 20 1
¢ K85 Dif: 0 NS:-0 2HW2 -110 0.0 5 ¢ 976 Dif: 0 NS:3 P 0 1.0 3
& KT92 IMP: 0 EwW:-0 2DW3 -110 0.0 1 & AKB2 IMP: 0 EW:-3 A 0.0 2
a A32 # K87 2DE3 -110 0.0 1 & K5 & Q963 1NN-1 -50 1.0 1
v AKQT5 + v 32 Wa 430 40 1 ||v 98 v QJT3 INEA1 20 20 1
¢ T42 ¢ J763 1NE3 -150 -1.0 1 + AQ54 + KJ8 4HS-3 -150 3.0 1
» 83 S & AJ54 * T7543 & J8 3NXN-2 300 7.0 1
* ¢ VAN ,Q64 S eVABN 4 AJTS
N ~~~1~ 8764 N ~~112 K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 Q76 E ~1~~~ aQ9
~22~2 W ~1~~~
# 25 a2 3NS3 -400 Mean: 3NS3 400 60 3 ||# 26 & A76 4HS5 -650 Mean: 4HS6 680 50 3
v KT2 3NS3 -400 140 3NN3 400 6.0 1 v QT62 4HS6 -680 490 4HS5 650 4.0 3
¢ AT42 Dif: 0 NS:6 5SXW-1 200 2.0 1 ¢ A9732 Dif: 30 NS:5 4HS4 620 4.0 2
& AKT82 IMP:0 EwW:-6 A 0.0 2 a A IMP:1 EwW:-4 A 0.0 2
& AQT876 s J5 4HS-1 -50 5.0 2 & KT42 a 98 6HS-1 -100 -11.0 1
v 874 v QJ9 3NS-1 -50 -5.0 1 v 38 + v J75 4SN-2 -200 -12.0 1
+ 986 * K75 3NS-2 100 60 2 ||eT6 + KQ54
a7 & J9653 & KJT532 & Q987
% ¢V BN o K3 S +VABN 4, Q53
N 333~2 9A653 N ~4643 v AK9M3
S 333~2 ¢QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ 464
~~~~~ W 2 ~ o~ o~ o~
# 27 » A73 3CN4 -130 Mean: 3NN4 430 7.0 1 # 28 a 87 2SE5 200 Mean: 4HW-1 50 6.0 1
v Q2 1NN3 -150 150 2NN4 180 1.0 1 v Q8 2SE4 170 -190 3SwW3 -140 2.0 1
¢ AK Dif: 20 NS:-0 1NN4 180 1.0 1 ¢ AQ4 Dif: 30 Ns:1 1NE2 -120 2.0 1
&» KQT974 IMP:1 EwW:1 A 0.0 2 & KQ8752 IMP:1 EW:-0 2SE4 -170 1.0 3
s T9 & KJ854 1NN3 150 0.0 2 & Q9532 & KJ6 2HE4 -170 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 ||e KJ95 | v AT4 A 00 2
¢ J6432 ¢ QT 2NN2 120 -1.0 1 ¢ T98 + K2 2SE5 -200 0.0 1
& J6 & A82 3NN-1 -50 -5.0 1 & AJT64 1NE4 -180 0.0 1
ooV ABDN 4Q62 P OVABN 4, AT4 4SXW5 -690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3~~~ 3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 1SS5 -200 Mean: 3SN5 200 20 1 ||# 30 » Q95 4HS-1 50 Mean: 4HS4 420 60 1
v J8743 2SS4 -170 130 2SS5 200 2.0 1 v AQ6543 3NS4 -430 200 4HN4 420 6.0 1
¢ KT63 Dif: -30 NS:1 1SS5 200 2.0 1 ¢ T5 Dif: 480 NS:6 3NS4 430 6.0 1
& A3 IMP: -1 EW:-2 2SS4 170 1.0 3 » Q4 IMP: 10 EwW:6 A 0.0 2
» Q76 [\ & K5 A 0.0 2 & J83 a T762 3HN4 170 1.0 1
v K95 v QT62 2SS3 140 0.0 3 v KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J N2 200 80 1||e A982 + KJ6 2HN3 140 20 3
17 & KQ9852 * K86 » J972 4HS-1 50 60 1
* ¢V AN ,AJTE43 SOV ABN 4 AKA
N ~3~43 wA N ~~3~1 97
S ~3~42 ¢A% S ~~3~2 ¢Q743
E 1~~~~ aJ64 E ~~~~~ & AT53
1~~~~ W ~~~~~




¥ l\ ——
6 10£E<F >2RABERF2P L ==> RE 6
AYA
#1: 3 B£/2(82.86) #2: 6 FE=r 2415(72.21) #3: 2 BRZ22(70.18)
1 1 INS: (BHO0) 0 12 NS: (FiC) 0 VP:| 0.00 0.00 Total VP: 0.00 Rank:
EW: (BC)0 EW: (580)0 IMP:| 0 0 11
__ _
# 21 4 T65 Mean: 3NN4 630 1.0 4 # 22 & 7643 Mean: 5SE-1 100 120 1
v K3 610 A 0.0 2 v 9743 -580 A 0.0 2
+ K875 Dif: NS:0 3NN3 600 0.0 6 ¢ 97 Dif: NS:0 3NW5 -660 20 7
& AQT3 IMP: EWw:0 &» A86 IMP: EW:0 3NE5 -660 20 1
» K72 s J843 » KQT2 » AJ8 3NE4 630 20 1
v JT7 v Q852 v KJ85 — v6
* AQ4 | + JT6 *3 » KQUT42
» 9852 a J4 & KQJ4 & TO7
S eVAN 4AQD HeVAN 495
N 44 ~~ 3 ¢ A%4 N ~~~~ ~ v AQT2
S 44 ~~3 4932 S ~~~~~ + AB65
E ~~~~~ & K76 E 44~34 ab532
~~~~~ W 44~34
# 23 & JT95 Mean: 2DW2 -90 1.0 1 ||# 24 & 742 Mean: 1NN1 90 3.0 2
v J9 -110 A 0.0 2 v A76 -30 2HW-1 50 2.0 1
¢ K85 Dif: NS:0 2HW2 -110 0.0 5 ¢ 976 Dif: NS:0 P 0 1.0 3
& KT92 IMP: EWw:0 2DW3 -110 0.0 1 & AKB2 IMP: EwW:0 A 0.0 2
a A32 # K87 2DE3 -110 0.0 1 & K5 & Q963 1NN-1 -50 1.0 1
v AKQT5 + v 32 Wa 430 40 1 ||v 98 v QJT3 INE1 20 20 1
¢ T42 ¢ J763 1NE3 -150 -1.0 1 + AQ54 + KJ8 4HS-3 -150 3.0 1
a 83 S & AJ54 & T7543 aJ8 3NXN-2  -300 7.0 1
SeVAN 4Q64 HeVAN 4 AITS
N ~~~1~ 98764 N ~~112 »K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E ~1~~~ Q9
~22~2 W ~1~~-~
# 25 a2 Mean: 3NS3 400 6.0 3 ||# 26 & A76 Mean: 4HS6 680 50 3
v KT2 140 3NN3 400 6.0 1 v QT62 490 4HS5 650 4.0 3
¢ AT42 Dif: NS:0 5SXW-1 200 2.0 1 ¢ A9732 Dif: NS:0 4HS4 620 4.0 2
& AKT82 IMP: EwW:0 A 0.0 2 & A IMP: EwW:0 A 0.0 2
& AQT876 s J5 4HS-1 -50 -5.0 2 & KT42 a 98 6HS-1 -100 -11.0 1
v 874 v QJ9 3NS-1 -50 -5.0 1 v 38 + v J75 4SN-2 -200 -12.0 1
+ 986 * K75 3NS-2 100 60 2 ||e T6 + KQ54
a7 & J9653 & KJT532 & Q087
oV AN 4 K3 HeVAN 4 Q53
N 333~2 vA653 N ~4643 o AKM3
S 333~2 +QJ3 S ~4643 ¢J8
E ~~~~~ Q4 E 2~~~~ a64
~~~~~ W 2 ~ o~ o~ o~
# 27 & A73 Mean: 3NN4 430 7.0 1 # 28 » 87 Mean: 4HW-1 50 6.0 1
v Q2 150 2NN4 180 1.0 1 v Q8 -190 3SwW3 -140 2.0 1
¢ AK Dif: NS:0 1NN4 180 1.0 1 + AQ4 Dif: NS:0 1NE2 -120 2.0 1
& KQT974 IMP: EwW:0 A 0.0 2 & KQ8752 IMP: EW:0 2SE4 -170 1.0 3
s T9 & KJ854 1NN3 150 0.0 2 & Q9532 & KJ6 2HE4 -170 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 ||w KJO5 | v AT4 A 00 2
¢ J6432 ¢ QT 2NN2 120 -1.0 1 ¢ T98 + K2 2SE5 -200 0.0 1
& J6 & A82 3NN-1 -50 -5.0 1 & AJT64 1NE4 -180 0.0 1
ooV ABDN 4Q62 P OVABN 4, AT4 4SXW5 -690 -11.0 1
N 3~~~3 9KT87 N ~~~~~ v 7632
S 3~~~3 49875 S ~~~~~ + J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 » 92 Mean: 3SN5 200 20 1 ||# 30 » Q95 Mean: 4HS4 420 60 1
v J8743 130 2SS5 200 2.0 1 v AQ6543 200 4HN4 420 6.0 1
¢ KT63 Dif: NS:0 1SS5 200 2.0 1 ¢ T5 Dif: NS:0 3NS4 430 6.0 1
& A3 IMP: EWwW:0 2SS4 170 1.0 3 » Q4 IMP: EwW:0 A 0.0 2
» Q76 [\ & K5 A 0.0 2 & J83 a T762 3HN4 170 1.0 1
v K95 v QT62 2SS3 140 0.0 3 v KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J N2 200 80 1||e A982 * KJ6 2HN3 140 20 3
& T7 & KQ9852 » K86 a J972 4HS-1 50 60 1
S eV AN 4 AT *eVAN 4 AKE
N ~3~43 oA N ~~3~1 »97
S ~3~42 ¢A08 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ » AT53
1~~~~ W ~~~~-~




¥ I\ ——
6 110 E<Z > RMHERE 2R E == R 6
AYA
#1: 3 B£/2(82.86) #2: 6 FE=r 2415(72.21) #3: 2 BRZ22(70.18)
1 2 INS: (BHC) 0 11 NS: (FA0)0 VP:| 0.00 0.00 Total VP: 0.00 Rank:
EW: (80)0 EW: (BAC) 0 IMP:[ 0 : o© 1
__ _
# 21 s 165 A Mean: 3NN4 630 1.0 4 ||# 22 » 7643 A Mean: 5SE-1 100 120 1
v K3 A 610 A 00 2 v 9743 A 580 A 00 2
+ K875 Dif: 0 NS:-0 3NN3 600 00 6 * 97 Dif: 0 NS:-0 3NW5 660 20 7
& AQT3 IMP: 0 EW:-0 & A86 IMP: 0 EW:-0 3NE5 660 2.0 1
» K72 s J843 » KQT2 » A8 3NE4 630 20 1
v JT7 v Q852 v KJ85 — v6
* AQ4 | + JT6 *3 » KQUT42
» 9852 aJ4 & KQJ4 a T97
POV ABN 4 AQ9 FOVABN 4,95
N 44 ~~ 3 ¢ A%4 N ~~~~ ~ v AQT2
S 44~~3 932 S ~~~~~ + AB65
E ~~~~~ & K76 E 44~34 ab532
~~~~~ W 44~34
# 23 & JT95 A Mean: 2DW2 -90 1.0 1 ||# 24 & 742 A Mean: 1NN1 90 3.0 2
v J9 A 110 A 00 2 v A76 A 30 2HW-1 50 20 1
+ K85 Dif: 0 NS:-0 2HW2 410 00 5 + 976 Dif: 0 NS:-0 P 0o 10 3
& KT92 IMP: 0 EW:-0 2DW3 410 00 1 & AK62 IMP: 0 EW:0 A 00 2
a A32 » K87 2DE3 410 00 1 ||aK5 4 Q963 ANN-1 50 1.0 1
v AKQT5 + v 32 Wa 430 40 1 ||v 98 v QJT3 INEA1 20 20 1
* T42 * J763 1NE3 450 1.0 1 |]|e AQ54 * KJ8 4HS-3 450 3.0 1
s 83 S & AJ54 & T7543 aJ8 3NXN-2  -300 7.0 1
SeVAN 4Q64 HeVAN 4 AITS
N ~~~1~ 98764 N ~~112 »K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 &Q76 E ~1~~~ Q9
~22~2 W ~1~~-~
# 25 a2 A Mean: 3NS3 400 6.0 3 ||# 26 & A76 A Mean: 4HS6 680 50 3
v KT2 A 140  3NN3 400 60 1 v QT62 A 490 4HS5 650 4.0 3
o AT42 Dif: 0 NS:-0 5SXW-1 200 20 1 + A9732 Dif: 0 NS:-0 4HS4 620 40 2
& AKT82 IMP: 0 EW:0 A 00 2 a A IMP: 0 EW:0 A 00 2
» AQT876 aJ5 4HS-1 50 50 2 || KT42 s 98 6HS-1 100 110 1
v 874 v QJ9 3NS-1 50 50 1||e8 + v J75 4SN-2 200 120 1
+ 986 * K75 3NS-2 100 -60 2 ||e T6 + KQ54
a7 & J9653 & KJT532 & Q087
¢ VAN 4KM43 eV ABN 4, Q53
N 333~2 vA653 N ~4643 o AKM3
S 333~2 +QJ3 S ~4643 ¢J8
E ~~~~~ Q4 E 2~~~~ a64
~~~~~ W 2 ~ o~ o~ o~
# 27 + A73 A Mean: 3NN4 430 70 1 ||# 28 » 87 A Mean: 4HW-1 50 60 1
v Q2 A 150  2NN4 180 1.0 1 v Q8 A 190 3SW3 40 20 1
* AK Dif: 0 NS:-0 1NN4 180 1.0 1 + AQ4 Dif: 0 NS:-0 1NE2 420 20 1
& KQT974 IMP: 0 EW:0 A 00 2 » KQ8752 IMP: 0 EW:-0 2SE4 470 1.0 3
AT » KJs54 1NN3 150 0.0 2 ||a Q9532 » KJ6 2HE4 470 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 ||w KJO5 | v AT4 A 00 2
* J6432 * QT 2NN2 120 1.0 1 ||e T98 * K2 2SE5 200 00 1
a J6 a A82 3NN-1 50 .50 1 a AJT64 1NE4 80 0.0 1
SeVAN 4062 ®oVAN 4 AT 4SXW5 690 -11.0 1
N 3~~~3 9KT87 N ~~=~~~ v 7632
S 3~~~3 49875 S ~~~~~ + J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 » 92 A Mean: 3SN5 200 20 1 ||# 30 » Q95 A Mean: 4HS4 420 60 1
v J8743 A 130 2SS5 200 20 1 v AQ6543 A 200 4HN4 420 60 1
+ KT63 Dif: 0 NS:-0 1SS5 200 20 1 *T5 Dif: 0 NS:-0 3NS4 430 60 1
& A3 IMP: 0 EW:-0 2SS4 170 10 3 a Q4 IMP: 0 EW:0 A 00 2
a Q76 N a K5 A 00 2 [|aJs83 a T762 3HN4 170 1.0 1
v K95 v QT62 253 140 00 3 ||w KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J N2 200 80 1||e A982 + KJ6 2HN3 140 20 3
aT7 & KQ9852 » K86 a J972 4HS-1 50 60 1
S eV AN 4 AT *eVAN 4 AKE
N ~3~43 oA N ~~3~1 »97
S ~3~42 ¢A08 S ~~3~2 ¢Q743
E 1~~~~ &J64 E ~~~~~ » AT53
1~~~~ W ~~~~-~




